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3. Hong is a building contractor. The building code in his area requires BD \ IO
that roofs be built to withstand 30 pounds of weight per square foot of S 2
horizontal area. /( /I/
a) How many kilograms per square metre is this?

b) After a snowfall, a square foot of flat roof covered with snow has a
weight of 18.1 pounds pressing on it. If the flat area of the roof of a
house is 700 square leet, what is the weight of the snow on the roof:

i) in pounds? it) in kilograms?
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EXAMPLE #2

Alphonse is making chicken kebabs for 14 people. His recipe suggests
about 7 oz of chicken per person. At the grocery store, the weight of the
chickenistabelled in kilograms. How much chicken does Alphonse need to
buy? Remember: 1 kg = 2.2 Ibs
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2.8 kg
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EXAMPLE #3:

A crane can lift andstone weighs about 150 Ib per cubic
foot, and a containercontains 70 cubic feet of sandstone. Can the crane be

‘used to load the container onto a train?

PoT8 = 1D \Ls 705/5 jbg

W
= /O%OOJ% /L%FX/@
3;)}5 (ooo%

=¥ 771

4.8 tso yes



Untitled.notebook October 03, 2018

Homework: 5.4 - Practice Problems.doc

]

Page 215: Questions 6 & 7
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Q 5.4 - Practice Problems.doc



Section 5.4 Practice Problems


1. If 1 bushel is approximately 2220 cubic inches, approximately how many bushels of grain are there in a bin that is 8 feet by 8 feet by 4 feet?


2. A truck has a maximum load limit of 5000 kg. Can it safely carry 230 bushels of canola, if the conversion factor is 44.092 bushels/tonne?


3. How many kilograms are in 1 ton?


4. A sign posted in an elevator says “ Maximum capacity 1400 lb.” If the average weight of an adult is 80 kg, how many average-weight adults can the elevator carry?


5. If 1000 cubic centimeters is equivalent to 1 L, how many millimeters will a box that measures 10 cm by 5 cm by 3 cm hold?


6. A hectare (ha) is an area of measure of 10, 000 square meters. How many hectares are there in a field that is 620 m by 380 m?


SOLUTIONS...


1)  About 199 bushels


2) Total weight: 5216 kg.  This is over the limit, so load cannot be safely carried.


3) Approximately 909 kg


4) About 8 adults


5) 150 mL


6) 23.6 ha
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